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Draw neat diagrams and give schedules wherever necessary.

4. Aswer the following in short - | 20

@)
)
Ac)
4d)

(e).

(®
(9)
(h)
(i)
()

Define economic laws.

What do you mean by positive economics ?
Define micro economics.

What is meant by relatively inelastic demand ?
Define variable costs.

Average revenue.

Give two characteristics of capital .

Main causes of growth of population.

Define small scale industries.

What is call money market ?

2. Answer the following in brief (any four) :— 20

Aa)
ADb)
~c)
Ad)

(e

3. Attempt any two

4b)
(c)

Distinguish between micro and macro economics.
Types of price elasticity of demand

Explain the features of monopoly.

Features of Indian Money market.

A note on SEBI.

of the followmg - 12

Given T#C as Rs. 200/-. Find out the TVC AVC TC AFC and AVC from
the following information.

UnitsofOutput | 1 | 2 | 3 | 4 | 5 | 6 | 7
Marginal Cost | 50 | 30 | 20 | 20 | 40 | 30 | 80

Discuss the constraints in Agriculture in India.
Explain the structural changes in India’s foreign trade since nineties.

4. Answer the following in details (any four) - 48
- (&) How is price and output determined under perfect competition in the

~ ()

(c)
o

He
¢

short run ?

Explain the features of monopolistic competition.

Explain the Modern Theory of Rent.

Discuss the major factors responsible for low agricultural productivity in India.
Analyze the New Industrial policy, 1991.

Give an account of Balance of payments problem since 1990's.

!
U\



R T
i, TR ——

= <
| B S O

slskan,

v ]
- 5 ———

ws Oct- 10 168 30, (REVISED COURSE}— AM-5286
Can, e (3 Hours) [Total Marks : 100

A\
i

v

4. : (1 Figures to the right indicate full marks. i
*=* " ) Draw neat diagrams and give schedules wherever necessary.
4. /~8wer the following in short - 20
" ta) Define economic laws.
4 AB)  What do you mean by positive economics ?
~ A€) Define micro economics.
; k) What is meant by relatively inelastic demand ?
(e)  Define variable costs.
(f) Average revenue.
(9) Give two characteristics of capital .
(h) Main causes of growth of population.
(i) Define small scale industries.
:‘ () What is cali money market ?
5 2. Answer the following in brief (any four) :— 20
o : _(a) Distinguish between micro and macro economics.
Ab) Types of price elasticity of demand
~t) Explain the features of monopoly.
_(d) Features of Indian Money market.
s AN _(e) A note on SEBI.

3. Attempt any two#of the followmg - 12

Y ] Given TFC as Rs. 200/-. Find out the TVC AVC TC AFC and AVC from
J the following information.

Units of Output 1 2 = 4 5 6 7
Marginal Cost | 50 | 30 | 20 | 20 | 40 | 30 | 80

4b) Discuss the constraints in Agriculture in India.
(c) Explain the structural changes in India’s foreign trade since nineties.

4. Answer the following in details (any four) - 48
N\ - (&) How is price and output determined under perfect competition in the
short run ?
N\ (b) Explain the features of monopolistic competition.
e (c) Explain the Modern Theory of Rent.

) Discuss the major factors responsible for low agricultural productivity in India.
~Ae) Analyze the New Industrial policy, 1991.
AF  Give an account of Balance of payments problem since 1990's.
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N.B. (1) Figures to the right indicate full marks.
(2) Draw diagrams and give schedules wherever necessary.

. 1. Answer the following in short :— 20

(

P N e~

—~

2. Answer the following in brief (any four) ;:—
0 (a)

¢ 3. Attempt (any two) of the following :—

(a)

(b) Complete the following table :—

a)

S=ZZ2Lez=zea00T

—_~
a—

Define Macro economics.

What is elasticity of demand ?

What is effective demand ?

What does the term wage mean ?

Define intensive cultivation.

What is absolute poverty ?

Explain average cost and marginal cost.
What is the function of entrepreneur ?

What do you mean by disinvestments policy ?
What does public expenditure mean ?

20
Macro economics and Micro economics are complimentary to each other,

Discuss.
Law and Economics are interrelated — Discuss.
Distinguish between :—

(i) Stock and Supply

(i) Absolute Poverty and Relative Poverty. 4
What are the exceptions to the law of demand.
Discuss the main functions of W.T.O.

(i) Desire and demand are same or not.
(if) Products of perfect competition is hetrogeneous.

Units | Total Total f ] —
of | Fixed | Variable | %@ | aAfc | ave ] AC / MC /
Output| Cost Cost Cost |
1 30 0 30 20 °o | 0 | o |
2 30 10 4o 1S 5 | ze | o |
3 30 18 4% 10 ¢ | e | g |
4 30 24 . |54 [ 35| 6 [ 135] & | 5
5 30 32 G2 6 649 | 1za | 8 |
6 30 72 jo 2 S |z [ 1% | po |
~(c) (i) Is economics a science ?
(i) Does relative poverty exist in developing country ?
4. Answer the following in detalil (any four) :—
(a) Critically analyse Marshall definition of economics ? 48
(b) What is meant by agriculture productivity ? Explain the remedies to improve @
agriculture productivity.
(c) Explain the different methods of measuring price elasticity of demand. yot ra
(d) Explain the structure of Indian Money Market. & ‘
(e) Explain structural changes in India’s Foreign Trade since ninties. 49 B |
()  Explain the causes of high public expenditure in India ? What are the measures 49@ &

to controi public expenditure ?
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N.E (1) Figures to the right indicate full marks.
(2) Draw diagrams and give schedules wherever necessary.

Answer the following in short :— | | 20
(a) Unitary elastic demand '

(b) What is effective demand ?
(c) Wage mean
(d) Quasi Rent
(e) Two features of monopoly
(f) Absolute Poverty
' (g) Average Cost and Marginal Cost
(h) Qualities of Entrepreneur
(i) Money Market
(j) Public debt.
Answer the following in brief (any Four) :— 20
g (a) Features of Labour.
(b) Distinguish between supply and stock

)
) What are the causes of Poverty in India ?

d) What are the exceptions to the law of damand
) Discuss the functions of W.T.O. .

3. Attempt any two of the following :— 12
(a) Complete the table ;

[
| OUreur. b THE ve | Tc | AFc | avc | Ac | mMC
| % 200 40
| 2. 200 68
N, 200 85
T, 200 105
| 5: 200 165
! 6. 200 234

(b) Concept of cost in detail.
(c) Positive and normative economics. Explain.

4. Answer the following in detail (any four) :— . 48
(a) Criticaly analyse Alfred Marshalls definition of economies. |

(b) Explain the salient features of Indian Economy

(c) Explain the structure of Indian Money Market

(d) What are the measures to Control Public Expenditure ?

(e) What the main problems of small scale industries ?

() Give an account of Balance of Payments problem since 1990's.
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N.B.: (1) Figures to the right indicate full marks.
(2) Draw neat diagrams and give schedules wherever necessary.

1. Answer the following in short — 20
(@) Define Micro Economics.
(b) What is Price Elasticity of Demand ?
(¢) Economics — a Positive Science.
(d) What is Effective Demand ?
(e) Product differentiation.
()  Green Revolution.

g) Marginal Cost.

h) Small Scale Industry.

) Public Expenditure.

) Disinvestment Policy.

2. Answer the following in brief (any four) - 20
~ (@) Features of Micro‘ Economics.
(b) Economics and Laws are Interrelated. — Discuss.
(c) Explain the features of Perfect Competition.
(d) Objectives of SEBI.
(e) Importance of Small Scale Industry.

3. Attempt any two of the following :— . 12
(@) What the main causes of population ?
(b) Discuss the problems of Agriculture in India.
§ (c) Explain the Law of Supply.
4. Answer the following in details (any four) - 48
(@) Explain the types of price elasticity of demand in detail.
(b) How price is determined under Perfect Competition.
(c) Explain the features of Monopolistic Competition.
(d) Explain the Modern Theory of Rent.
(e) Critically analyse the New Industrial Policy of 1991, )
()  Explain structural changes in India’s Foreign Trade since Ninties.
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(b) Given TFC as Rs.100, calculate average variable cost, average
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(1) Figures to the right indicate full marks.
(2) Draw neat diagrams and give schedules wherever necessary.

Answer the following in short: 20
(a) Define Micro ecoromics.

(b) What is relatively inelastic demand? Give its value.

(c) What is meant by total cost?

(d) What is meant by ‘selling costs’?

(e) Give any two characteristics of labour.

- (f Give two reasons for high birth rate in India

(2) What do you mean by public sector?
(1) Define Call money market.

(1) Define public debt.

(i) What is meant by balance of paymenis?

. - Give short explanatory notes on ‘any four’ of the fa!lewing ’ 20

() Explain the relevance of Economics to law

{(b) Explain the law of supply.

{c) Explain the features of monopoly.

(d) Give an account of causes of inequalities of income.
(&) Write a note on SEBL

{f) Functions of WTO.

Give short explanatory notes on ‘gny twe’ of the following: | 12
(8) State and explain the Lew of Demand.
fixed cost, average cost, total

variable cost and total cost.

Unitg of ] 21 3 4 51 .6
outpiK

Marginal | 100 | 60| 40| 40| 80 60| 160
Cost |

=3

(c) Evaluste the stractural changes i

Answer ihe following in detaliz {
{a) Sftawmde}gﬁamthﬂ.awgf s
(b) Iixplain the features of perfect competition.

{¢) Explain the Ricardian theory of rent.

(@ Discuss the causes of low sgricultural productivity in Indis.

" (¢) Explain the National Agricultural Policy-2000.

(t) Evaluate the Indian Tax structure snd tax reforms since 1990s.

f e Ko
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N.B. (1) Figures to the right indicate full marks.
(2) Draw neat diagrams and give schedules wherever necessary.

1. Answer the following in short :— 20

(a) Define positive economics.

(b) What do you mean by relatively elastic demand ?

(c) Define the term ‘demand’.

(d) How will you calculate average revenue, if you are given the total revenue
and the units of output ?

(e) What is meant by marginal revenue ?

(f) What is the basic difference between a monopoly firm and a perfectly
competitive firm in terms of buyers end sellers ?

(8) Give any two characteristics of capital.

(h) Define call money market,

(1) What do you mean by public expenditure ?

() Define Small Scale Industries.

2. Give short explanatory notes on any four of the following :— 20
(a) Explain the relevance of Economics to law,
(b) Explain the concepts : total revenue, average revenue and marginal revame.
(c) Write the Features of land.
(d) Analyze the causes of increasing birth rate in India,
(e) Objectives of National Agricultural Policy—2000. =
(f) Features of Indian capital market.

4

L

3. Give short explanatory notes on any two of the followihg —_ 12
(a) Explain how the price is determined by demand and supply of commodities.
(b) Complete the following table :—

Units | ppe ltve | e | ape AVC| AC | MC .
of output

0 100 100

1 120

2 130

3 147

4 172

5 200

6 234

(c) Discuss the Balance of Payments problem since 1990s.

4. Answer the following in details (any four) :— 48
(a) Features of Monopolistic competition.
(b) Explain the Ricardian theory of rent.
(c) Discuss the salient features of Indian economy.
(d) Give an account of factors responsible for population growth in India.
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Q 1-Answer the following questions in two sentences: - 20 marks
a) Write two features of the wealth definition of Economics.

b) What is Normative Economics?

c) State the difference between Stock and Supply.

d) What do you mean by the concept of selling cost?
‘e) Write two cha racteristics of Land.

i 5 State two Acts made by Government of Indla to remove Inequal"j,;?“

g) Define Green Revolutlon
h) Write two-exa mples of direct taxes.
i) Define public sector. - A

j).Whatldoes public expenditure mean?

Q.2 Write short notes(any four) : -

o 20 marks
@"" ’”§ X

a) Distinguish between mlcro and macro ECOI"'OI’T‘IICS

b) lncome elasticity of demand. - {f\\%
.c) Features of monopoly . . %\ w

d) Marginal productivity theory 01 wages

e) W.T. O ' \?;\

f) SEBI o

3 . J‘\{;\;E

N »
oty .
‘Q 3 Attempt any tv:o of the following. : , ' 12 marks

_ v
a) Liberal pohcy lsxhelpful to improve Indian agncultural condltlon Discuss.

%’ §
, b) Importa {ce “of various Laws in connectlon with populatuon control in India.’

L) G|ven ""’F(f as 100, find out TC, AFC, AVC, AC, MC from the following table.

Umts cf 1 |2 3 4 . 5 6 7 8
Tv put | |
Ve 100 (150 [0 305 350 1380  [410 440
[TURN OVER

CX-Con.:9785-14.

w
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Q.4 Answer the following in detail. (Any Four) : - ' . 48 marks
a) Explain the Law of demand with assumptions and exceptions. 4
b) Explain the Recardian Theory of Rent.

' c) Explain the Relevance of Economics to Law.

d) Explain th_,é vEcon_omic-features of Indian Ecohomy

e) What is Balance of Payment7 Explain the causes of adverse balance cf' payments -

f) Dtstmgunsh between Public sector, Private Sector, and .lon._~ ‘Sector. Explain

problems of Small Scale Industry

CX-Con.:9785-14.
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Figures to the right indicate full marks.

(2) Draw neat diagrams and give schedules wherever necessary.
(3) Use of simple calculator is allowed.

Answer the following in short.
Define Micro Economics.

(a)
(b)
(c)
(@
(e)
®
(2

(h)

(i)
)

Define Density of Population.
What is intensive cultivation?
‘Define Average revenue.

What is Selling Cost?

20

Give any two features of monopolistic competition?

Define money market.
Define Public sector.

What do you mean by indirect taxes?
Define balance of payments.

Answer the following in brief. (any four)
Explain the relevance of econemics to law.
Distinguish between positive and nermative economics.
Explain the features of perfect competition.

(@)
(b)
(c)
(d)
(e)
®

Features of Land.

Causes of poverty in India.

Write a note on SEBIL

Attempt ariy two of the following.
State and explain the law of demand with suitable diagram.
Given TFC as 200, find out TC, AFC, AVC, AC and MC from the following

(2
(b)

(©)

. table.

20

Unit of output

1

2

3 14 |5 |6

TVC

60 |

118

160| 208 | 300 | 340

Explain the role of small scale industries in India.

Answer the following in detail (any four)
What is elasticity of demand? Explain the types of price elasticity of demand

(2)

(b)
(c)
(d)
(e)
(®

with suitable diagrams.

Analyses the salient features of Indian economy.

Explain the causes of low productivity in Indian agriculture.:
Given: an account for the growth of public expenditure in India.
Explain the National Agricultural Policy-2000.

Evaluate the Indian Tax strycture and tax reforms since 1990s.

Con. 9335-14.
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N.B.: 1) Figures to the right indicate full marks.
2) Draw neat diagrams and give schedules wherever necessary.
3) Use of simple calculator is allowed.

1. Answer the following in short:
(a) Define positive economics.
(b) What do you mean by derived demand?
(c) Define implicit cost. . %
(d) Give two features of land.
(e) What do you mean by ‘Giffen paradox’ ?
4 (f) Mention two features of under developed countries.
- ' " (g). What do you mean by money market?

3y P (h) Give two types of non-tax revenue.
(i) Defirie public debt. , {2 ’ B
() Expand the abbreviation of NAP and SSl i

2. Answer the following in brief (any four): O _ 20
(a) Relevance of economics to law.’ '
(b) Total outlay method of measuring price elastucnty of demand.
(c) Causes for decreasing death rate in India.=~:
(d) Distinction between ‘direct taxes and ind ect taxes
(e) Factors responsible for poverty in lndr-
(f) Types of public debt.

3. Attempt any two of the following;: - “ 12
- (a) State and explain the Law_ e
(b) Given TFC as 200, fmd ouf TVC, TC, AFC, AVC and MC from the following table.

Units of output 1+ 1 2 3 4 5 6
&9 AC . 240 125 90 . 80 70 60
vy (c) Explain the \gf."a-dses of inequalities of income in India.
4. Answerin detanl ‘any Four) : . ' ' 48

(a) “The:price’of a commodity Is determined by the demand for and supply of that
commodity” — Discuss with suitable example and diagram.
(b) -Atvalyse the factors responsible for the growth of population in India.
. (<] ‘Whatis meant by agricultural productl\(lty? Explain the causes for low agricultural
& productivity in India.
\?; {d) Explain Ricardian theory of rent.
(e) Evaluate the National Agricultural Policy 2000.
(f) Discus’s the features of Indian capital market.

SQ-an. 3234-15.
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N.B.. 1) Figures to the right indicate full marks. 0V
2) Draw neatdiagrams and give schedules wherever necessary. . c
3) Use of simple calculator is allowed. «v

1. Answerthe followingin short: : é&
(a) Define Robbins’ Definition of Economics. ?’9 -
(b) Define Microeconomics. 6
(c) What do you mean by demand in economics? 0’5
(d) Give a formula to calculate average cost. . u
(e) Give any two features of monopoly. Q&

(f) Mention any two features of labour. ' . Q
(g} State any three causes fof poverty in india. A 0
(h) Define small scale industries. ; é
(i} What do you mean by capital market?

(j) What are the main two types of taxes? @

- )

2. Answer the following in brief (any four): ' 0’& 20
a) Distinction between micro and macro economics
b) Make your own numerical table on total revenue. g’. ge revenue and marginal

revenue. . 6
c) Features of land. ’s,
d) Constraints in agriculture. qp
e) A noteon SEBI. P
f) Proportional and Progressive taxation &quitable numerical examples.
&)

3. Attempt any two of the following: @ ' 12

(a) Economics as a science and it

Yance to law.

(b) State and explain the Law r o\f,ﬂy.
(c) Complete the following + Q.
Units of TFC
100

! * TC AFC AVC AC MC
e K _
1 \‘M , 120
L 2 \y. 70
3 80
4
, 5

output

OQ 63

60

4, Ap \l\.'ne following in details (any four): 43
/ o.plain the determination of price of commodity with the help of Demand and Supply
?‘ schedule and curve. _
é ) Explain the features of monopolistic competition.
é (c) State and explain Ricardian Theory of rent.
(d) Discuss the causes of population growth in india.
6?‘ {e) Evaluate the New Industrial Policy of 1991.
0’5 (f)} Explore the causes of increasing public expenditure in India.

&& N ey |
Qo FN-Con. 3913-15.
N

P



| EconorncS
| Sermn-~ L - LS

=3

QP Code :

REVISED COURSE"~ -
(3 Hours)

Total Marks :100

" N.B.: 1) Figures to the right mdlcate full marks.
’ 2) Draw neat diagrams and glve schedules wherever necessary.
3) Use of simple calculator is allowed

1. Answer the following in short:
(a). Define normative economics.
(b) Define perfectly inelastic demand.
(c) What do you mean by demand?
(d). What do you mean by average cost?
(e) Givetwo features ofland.
(f) Give two examples of indirect taxes.
(g) What is meant by capltal market’-’
(h) Define explicit cost.
(i) What do you mean by public debt?
(i) Expand the abbreviation of SEBl and WTO.

2 Answer the following in brief (any four)
(a) Distinguish between positive and normattve lcf'anomlcs.
(b) Determinants of demand.. -
{c) Features of monopoly. -
(d) Causes for inequality of income in lndf"i
(e) Disinvestment policy.-
< (f) Features of capital market.

3. Attemptany two of the following:
(a) Analyse the features of mgnopolistic competltlon

(b) GivenTFC as 200, f'nd muT TVC, AFC, AVC, AC and MC from the followmg table.

Units of output.y

TC 250 270 | 320 350

360

{c) Explain th{;;?bblems,faced by small scale industries in India. )

4. Answer in detai! (any Four) d
(a) Dts‘u;s, with suitable diagrams, the types of price elastluty of demand
(b) Evaluate Ricardian tHeory of rent.

MAY 2016

25943

20 -

20

12

48

()= “increasing birth rate and decreasing death rate are the main factors responsnble for

o “the growth of populataon in‘India”- Discuss.
“+d) Explain the constramts of agriculture in india.

"(e) Analyse the causes responsible for the growth of public expendlture in India.

(f) Evaluate the structural changes-in India’s foreign trade since nineties.

DB-_Con. 448-16.




L0211/L0139 ECONOMICS

N.B:

3. Use of simple calculator is allowed.

Q1 Answer the following in brief
a) Define 'positive economics'.
b) What is meant by 'relatively inelasticity of d ,%;," '
¢) What is meant by Average variable cost'? "
d) Deﬁne 'selling cost'.

f) What are the major causes for hlgh\{smf&fate
g) Give two reasons for low agrlcultg ab

h) Give two features of Indian moﬁeye-w

i) What is meant by dlsmvestngent')g

j) Mention any two mdlrectrg(és

Q.2 Explain the followmg
a) Dlstlngmsh betwe

(20)

(12)

(48)
i;lt;{ty of demand? Explain the types of price elasticity of demand.

“rgs of Indian economy.

at are faced by Indian Agricultural sector

ial Policy, 1991.

in Marginal Productivity Theory of wages.

structure and its reforms since nineties (1990).

Page1of3
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N.B. : (1) Figures to the right indicate full marks.
(2) Draw neat diagrams and give schedules wherever necessary.
(3) Use of simple calculator is allowed.

1. Answer the following in short :

(a) What is normative economics”

(b) What is meant by supply?

(¢) Define explicit cost.

(d) Give two characteristics of land.
(e) Give two features of monopoly.

- (f) What does public debt mean?
) (g) Write two types of direct taxes.

(h) Give two features of capital market.
(1) Define small scale industries.

() What do you mean by Proportional tax?

2. Answer the following in brief (any four) :
(a) Explain the relevance of Economics to Law.
(b) Distinguish between micro and macroeconomics.
(¢) Explain the characteristics ¢f iabour.
(d) Explain the causes for increasing birth rate.
(e} Types oftax rates. s
(f) Functions of WTO.

3. Attempt any two of the following :
(a) Explain the types of price elasticity of demand.
V. (b) Explain the censtraints in agriculture.

(¢) Given T’F_C«‘és Rs.250/-, calculate the TVC, TC, AFC, AC and MC.

Units of out put | TFC | TVC | TC | AFC| AVC | AC | MC
0
1 120
2 73
3 70
4 62.5
5 70

TURN OVER

100 -

20

20

12



Q.P. Code : 303401

4. Attempt any two of the following :

(a) State and explain the law of demand. What are its exceptions?

(b) Explain the features of Indian economy.

(¢) Define agricultural productivity. What are the causes for the growth

of agricultural productivity?

(d) Discuss the factors responsible for the growth of population in India.

(e) Analyse the National Agricultural Policy-2000.
(f) Discuss the structure of Indian Money market.

(FTET HAgER)
(3am)

e :(3) IorETREIe e UT ST ‘_
(R) wrravyeh {3l g TRl STeTE. qUT TaRT el
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9 el Yo Seak G arerTa fovat.
(1) SAENETe] ST FEUS] BT ?
(9) qEST TEUS HE?
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(g) ufiref <9 3Rz 3% ferar.

(3) wergrEh g afvred ot

(F) ETeSeF %Sl T8N h1d ?
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(7) wiese STRrEl g9 afved e
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3 70
4 62.5
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v, el weaTE aferear Jeal e (SHITIE! |R) %

® ‘Wiﬁ%ﬁ & Rooo’ o fargaiwor HU.
(F) srreefi TOr SISO Ta ¥ UL

......................



O

N.B: 1. Figures to the right indicate full marks. y
2. Draw neat diagrams and schedules wherever« ne
3. Use of simple calculator is allowed.

Answer the following in brief:
What is normative economics?
Define relatively inelastic demand.
What is'meant by “fixed cost’?
Write two features of monopoly.
What do you call the factors pricing for Land:ar
Give any two constraints in agriculture

Define small scale industries.
What is meant by capital market?
Write two examples of indirect tg '

n money m rket

lndlavs forelgn trade since nineties.
’\&
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= Paper / Subject Code: 75902 / Economics
.l H58 S€m T . !

[Time: 3 Hours]

Please check whether you have got the right questic
N.B: 1. Figures to the right indicate full marks
2. Draw neat diagrams and schedules»\wh

Q1 Answer the following in brief,
a) Define Micro Economics,
b) Give any two features of monopoly competitio
¢) Define public sector.
d) What do you mean by relatively inelastic:
e) Define direct tax.
f) What is selling cost?
g) Where is the headquarter of WTO?
h) Define Positive Economics, .
i) Give any two characteristics ¢
j) What is meant by balancc{gf‘p

Q2 Give short explanatory notes on g

20
O &) Write a note on SER
Q3 Answer the foifem : (12)
a) G:venTFCa TC from the following
5 6 7 ]
40 30 80
1anges-in $*foreign trade since nineties.
s of Indian Capital Market. 3
(48)

opulation Growth in India,
N,
of Economics to Law.

geicultural productivity? Explain the remedies to improve
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Q1 Answer the following in brief.

a)
b)
)
d)
e)
D
g
h)
i)
his h);

18)s )19

Paper / Subject Code: 75902 / Economics

BLS sem-TT

[Time: 3 Hours]

State two drawback of wealth deﬁnmon of Econ

gﬂﬁé

What is social cost?

Write two features of Labour.
What is density of population?
State two causes of low per capltaL

\m'y"‘éiid o

OO
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What is Money Market? G
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Paper / Subject Code: 75905 / Economics

7

ECONOMIC SET 2

1 Normally a demand curve will have the ; shape: dm\Tga: AR

a) Horizontal / &fis
b) Vertical srqeia
c) Downward sloping @Te=aT f2ary SEEY
d) Upward sloping ST IES
2 The elasticity of demand of durable gobds is: feres EITQFEIT IO
BEIRELII e - : .

a) Less than unity s Je7 F:2ft

b) Greater than unity w#aver 3y

c) Equal to unity wHTeTIETE TuT

d) Zero o | L
3 The horizontal demand curve parallel té X-axis implies that the elasticity of
demand is: x-ster=ar "W dfeer gE A g QT BT A AT i
ey v
a) Zero ¥
b) Infinite s
c) Equal to one THT=AT FUaa v :
d) Greater than zero but less than infinity S[RITI&TT | Tor STeaTyET Wﬁ
4 What is meant by Autarky in international trade? TR 2RI A
RS H? | :
a) Monopoly in international trade HHTU@H SATITIA S HhaTer »
b) Imposition of restrictions in international frade ARG SATIRTT ﬁ??a e

c) Removal of all restrictions from international trade siRxTSIT SO WS
Aster gaaor ' '

d) The idea of self-sufficiency and no international trade by a country

FCDC8D119DFF570D46B6FBE6F75D176D
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FIATHAHT FETw T SO0 T9TETY SATaTE ST Ay

5 If elasticity of demand is very low it shows that the commodity is: A=
A RHAT G FHT sTeeATd O 7w g ¥ adaw

“a) A necessity sTIITH

b) A Ileury L Eikil ‘

¢) Has little importance in total budget wgvr srsfaeeqra way HE<d ATgr
d) Has more importance in total budget W& srefesreure arfirs HEwd g |

6 refers to that part of man's wealth which is used in producing
further wealth, ' '

A.  Money T

B. Capital wieaa

C. Capita #fer

L) » Captiqn HBT

7 » is one who organizes, manages and assumes the risks of a

business enterprise. T STHTE SURATH] SIET S F3ar, Sraemy

A.  Entrepreneur SEIST

B Ag‘ent gedes

C. Manéger STIETIh

D EmploYee HHATL

8 aggregate ’income of a country is often called as SLT=AT AT

ICqHTAT T TGO

- a. Zero income 7T I

b. Mixed income sy g
e National income T¥T Seoer
d. Flexible income wafis geaw

FCDC8D119DFF570D46B6FBEGF75D176D
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9 National agricultural policy came in the year > TR FET &
7 YT 3T,

A. 2001 o009
B. 2003 3003
C. 2000 Roos
D. 1999 9%%¢

10 are those industries which are providing services on small

scale. T SAATIHRRH ST LT S T2 THITT 9T 47,
A.  Small scale industries g 3=

B.  Large scale industries T I

C.  Neutral industries @€ S2T

D.  Minimum industries & S=iT

11 India’s per capita income is as compare to developed countries.

A=A oA e TRt IS Soa g,
A More stfers

B Less

B Same T

D None #FTgigl ATat

12 The per capita income in India has not at a pace at which
national income has risen over the past four decades. wr<ardier TP

S AT AR IAFHET SAT A TT Jeqs TG g AT I TS Ieqs

et

A Grown dTedd
B Reduced =Y
‘ C. Stagnated fRox
D. Inflated wraerer

13 “A country is poor because it is " "TETRT R8T T AT HO 4T

FCDC8D11 9DFF57OD46B6FBE6F75D1'76D
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A. Great #gr
B.  New | T
C. oldwr

D.  Poor g

14 The focus of the second five year plan was THAT T=ATeF A=t Fefeg

a.  Agriculture <t ~
b. ' Industrialization sfenfisisr

C. Education forerur

d. . Defence forerr

15 Which is not the charactenstlcs of small business: @rr«;ﬁ?r T Eﬁﬂ]‘cﬁ @EJT
RERIRIEI RS I F

a.  Unlimited work scope swaffeT s smft
b.  Free management {90 ZraredTa

c. Priority of workers THITIAT STeT=T

d.  Limited mvestment ERNECRIGEL G

16 Which among the following is an example of substitution goods?

GTEATeTdehl o giaesToT an-aj‘a“ TG 371g?
a. . Milk and Coffee Q%T AT iy
b.  Pen-and Paper e Frfor gz

. Ink and Pen 9Ts arfor s

d.  Tea and coffee =gr snfir iy ‘
17 Micro economics is a study of TThT ST 8T _ =7 ey

a.  Individual Units. &frs gfee
b. Aggregate Units T&wT Uss

FCDC8D119DFF570D46B6FBE6F75D176D



Paper / Subject Code: 75905 / Economics

o Study of National Qutput, Employment etc g IcITEA, TSI SATEIH]
ERDIE :

d.  Study of mone’tary variables s et =T T

18  The demand curve for monopolistic competition is

AThETE=AT TTE=T AT 56 ___ o8

a.  Perfectly elastic 3T# T A=
b.  Perfectly inelastic quia@ Wﬁ“ﬂ% ATal
£ Relat'ively elastic qer Faf=e

d.  Relatively Inelastic g@a« seaf=

19. A periodical return for the usage of land is called as
ST aTae=aT FAaasTicrs IRATSATT _ . R

a. Interest =aTsT
b. Profit wrzar

c. Wages aad

d. Rent#s
20 The Year of Great Divide refers to e Regre= ay &

a.  Economic crisis of 1929 / 1929 ¥ sf¥fs Fe

b. Rapid growth rate of population after 1921 / 1921 Sq¥ @THEI=T T4
FTIEMHET 2L

¢.  The declining sex ratio after 1921 / 1921 #a¥ =ed o TuIwiK
d.  The slow-down of death rate after 1921 / 1921 GRS A HaTadT

FCDC8D119DFF570D46B6FBEGF75D176D
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ECONOMICS
DESCRIPTIVE TYPE QUESTIONS
1. Explain the causes of Economic Inequalities.

WWWWW.

2 Explain the meaning and importance of Mlcroeconomlcs.

TR TS IR aref oy Hgtd T¥ F:7.Explain the concept of Price

3. Explain the classnﬁcatnon of Market Structure?

 TSIRUS™IT a9 aﬁ—ﬂw Y F?
4o DISCUSS various features of National Agriculture Policy, 2000,
T F g, 2000 Wﬁﬁﬂéﬁ@ﬁﬁﬁﬁw.

5. Discuss the importance of Small-Scale Industries in country like India.
HICATHTLEAT ST THSTN AT T g =T 947 1T,

6. Analyse the striking features of Indian Economy?
T T s ARy R oy
7. Discuss major principles of WTO.

SePETSI=AT W@ a<ai=T =T .
8. Write short notes on: (i) Law of Demand; (ii) Law of Supply /
R qrewTq Aieq forgr: (i) AwnfiaT e (i) wasarEr smer
9.  Elasticity of demand and its ty'pes? |
AT fe et i e s 3= gher Ty e
10. Explain Price Determination with Demand and Supply Curve.,

WWWWWﬁWWW.

FCDC8D119DFF570D46B6FBEGF75D176D



Paper / Subject Code: 75907 / Economics C“}s’ ~2S )

N\ n noth |
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Time: 2 % Hours To'tal Marks: 75

Q.1 Answer the following questions in two sentences (Any Six) 12
a) What is Normative Economics?
bj State two Acts made by Government of India to remove poverty.
¢) State the difference between Stock and Supply.
d) What does public expenditure mean?
e) Define public sector.
f) Write any two functions of Niti Ayog.
g) Define Green Revolution.

h) Write two examples of direct taxes.

Q.2 Write short notes (Any Two) 12
a) Distinguish between micro and macro economics.
b) Income elasticity of demand.

¢) Features of monopoly

d) W.T.O

Q. 3 Attempt Any Two of the following: 12
a) Liberal policy is helpful to improve Indian agricultural condition, Discuss.
b) Importance of various Laws in connection with population control in India.
c) State any three problems faced by small scale Industries during Corona Pandemic.

d) State any three features of India’s Foreign Trade.

Q.4 Answer the following in detail. (Any Three) ; 39
a) Explain the Law of demand with assumptions and exceptions.
b) Explain the Economic features of Indian Economy.
¢) Explain the Relevance of Economics to Law.
d) What is Balance of Payment? Explain the causes of adverse balance of payments
.€) Distinguish between Public sector, Private Sector, and Joint Sector. Explain problems

of Small Scale Industry.

22141 - Page 1 of 2
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Fe5: R Y/, A TOT: oy

.8 GTeiiel T S o o7 3N fofet. (ivTaet @em)
+ 37) AT T TEvIS! S? -
) TG TS TR T sheled 3 IS (oTel.
) W37 ATV YLST AT A B FAe.
) TSI M I TEUS! h1a?
3) HTaIST(eh &l AT fofel,
%) T ST G S fereT.
™) Bt shidi=i samea feter,
T) TcTehr=l a1 SaTetor forar,

.3 four foret (shtoraet )
) & AR AT T AL ATh el Hoh
EEREAEIEER )
o) Heha = AT
) Tecg 1.3

.3 G A=, (RIvTE 3)
3) WA ST aiRerd! uRuaTaTst SARAAETET GR0T SUgh SATe ==/l .
) YHATT ATHEEIT FE=omTdl S Wecd T8 .
o) ST |11 WT=AT SHIBIA AISENTIHT HSTETeTedT SHET forer.
T) HIAT=AT TS AR i Sfred ferer.

T.% @refier Fei afoea 3 foer, (@rores 3m)
37) Tk SATIT SAYaTE AT8E ARTOf= REid €7 .
) AT Srefeee=l Tfish AfTed Tu% .
o) TSI ATV SHIAGT AT TefeT T H.
T) IIETRIY FRUS] 7 T TR L0 TIE T,
3) HTEISI ek STNTET, WIS SERTE, T Heh JeIT & ATdlIet thleh T8 . T
JETT=AT AT S0 .

22141 Page 2 of 2
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Paper / Subject Code: 75902 / Ecunumlcs

Bls sew -1

[Time: 3 Hours]

/r:s{l m,g_c. 0 M,.f

[Marks I[II,]]

Please check whether you have got the right qun:stmn paper

N.B: 1. Figures to the right indicate full marks.

2. Draw neat diagrams and schedules whf:rc nﬁcassaxy

Q1 Answer the following in brief,

a)
b)
c)
d)
e)
f)
g)
h)
i)
i)}

a)
b)
c)
d)
e)
f

g

(20)
State wealth definition of Economics. 0 -
Name any two Acts for economic welfare in Indm
Write the essential elements to create demand
Write two features of Land. :
What is opportunity cost? o
What is per capital income?
Write two functions of WTO. _
Give two examples of Indirect Taxes : 5 S _
Name two Acts to remove the prubiems of mt:quahty in Indm. f
Write the difference between anate Sectur and Puhhc Sectﬂr. '
Q2 Give short notes on any four nf the fulluwmg : 5y (20)
Difference between Mmm Ecﬂnnmlcs and Mu{:m Econcvmlcs
Drawback of Recordian 'I'hcrcrry nf Rent.-
Monopoly mmpetltmn market
Features of Indian Eu:-nomy
Balance of Payment. : &
Dmmvesh‘nent pulmy of ]nd1an Gr:.wernment
Q3 Answer the foIlamm, (A.ny 2) P (12)
a) What are the causes of populatmn gmwﬂ} in Inr.ha‘?
b).. State the measures to improve the agrmullural pr{:-ductwntg,r in India.
c) Gwen TFC. SU Find ﬂut T"\»"C TC, AFC; AVC and MC.
Umts ofDu‘tput i et VSIS 4 5 6
X i _AE 102000 :':]‘3{} 1160 140 120 100
Q4 Answer the folluwmg in dﬂtmls (An]r 4} (48)

S 9

‘a)
b)

d)

63482

Explain the Law Qf Demand with ﬂssumptmn and Exception.

Study of Ecunomlcs 18 use:ful fur Law students discuss.
State and criticize nn}r tv({} meanes of profit.

TE6239A3BF750C93766A1991097AFBFF
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Page 1 of 3

'le'fercntiatc lha SmalI Sea]e Industries and Large Scale Industries. Explain the
“impact of New Industna] Policy 1991.
~What is Publu; df.'ht‘? Explam the causes for increasing public expenditure.

: :State the causes of poverty in India. What measures did Indian government adopt to
: _'rcmove the: puverty‘?
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